FE36EEEJI0CY 1271t vihy) FBEZEKiKFRHRAXE

RH - REEFRKIKES

A3—FJX b
#EHNo. 5 TF 100m Fik&E FE 6#
_11~128% _
Kig o B K 4 B4 B
148
1 X B 2923  KWUHLA Ty 9n JSS/N\E JSSYt NG
2 = A 2643  [EF #&T thh3 74/ aF KRR 13793 NG
3 K B3 BEE =k by ++ YOIVE = ¥= SWyy/3y NS
4 F E 902 {kiE B ¥y 14 UMb 10 LYY NS
5 ® = 1581  hiE #h#h +hny 19% BSHEE BSky¥ay /b
6 A F 107 #E)I $EmE ' 1y SA—MH SAMF/t% NS
7 T A 2398 A = M 74Y ZEkS SNA MTYSH)Y /N6
8 ®™ H 161 KiF Fu yn e #97W1SC #Y7WRSC /15
248
1 ZF Al 2381  IMHD R W KLE&EBH KLhzh™ 4 /N5
2 F E 952 BEiIE E&E 34 1 7" VIV 7 VEvItn N
3 E B 3101 /iy EE 1Y 2R3 141 rT UM ANRVNEE N6
4 wmEl 1762 BT T8 bhys 73 HASC PI%19SC /N6
5 B g 3559 TA&F kT YELT 3 E—4IL BGSS NG
6 X B 2771 EEER v It 4 < v b3y ING
7 X B 2797 @R 6o VT A A4 bSO BT FR NS
8 B B 403 #HK F= AR ¥ FEn A& EH SW7H" 3 NG
348
1 F & 15  BIK EiF E¥ 19% YOI RINF YOWINFIA - ING
2 ® = 1488 =@ BF 397 #1h R1yasc #1)3SC IN6
3 B E 645 FHiR K& 14h 1% A4 UBE AMUHMEY N6
4 B E 578 ZEH @ 4 T A4 VEFL AU N6
5 mHE 1767 HHA BTF EVZ AN V)8 FryrEXT FUEEY N6
6 ® H 175  {EB%ERTF #hy v13 V1) Bl T-yF % N6
7 H R 1264 Wk BEBRE )] O =HEERm P3N N6
8 ®E = 1224 LEtHEBEEE NI/ 73 #Fts s 7 L38S /16
448
1 T IR 3370  EN M 7409 79 EEH4ER TUh47Y95  IN6
2 ® = 1149 WX ESH WEh Vi HESC P%39SC /N
3 ®E = 1051 Jkis e 21y £HETS C 7137SC ING
4  #wEl 1766  imlL EE MY FE—7FYt M -THE N6
5 = g 3566 A HEF IWEL Y3 (il SEN= Vit VRS & S VG
6 Z AN 2322 KB ¥E=E o3 7Yt 1IvEBH AMAAD 4 N6
17 ¥ B 2070 /NEF HRH 1) 32K THOU—H THY-Eh" Y N6
8 ® = 1144 AREBUVA  JF 5 Ftn HESC PI%39SC /N6
5%8
1 m E 684 TR #HEF 1% 730 A4 BT SWovsYy NG
2 E E 3050 [MHE #AxE thy 1t o mp V7 N )
3 B 1853  /h#k B Yy 933 A4 PSR S VERITEIN;
4  w@E| 1836 Kl RE WY ht ZRREEEF AR EMY f
5 B R 1444 E7 ARt VEUVIS = HEDCHKRE DC¥9349° 4 1\6
6 BE XK 3536 #EAH EBE o ot AR EEKR A ZMTER N6
7 @ W 3187 &O [B&E DT F nbh O S KWW 0SKthyy /16
8 B E 656 /INEFFEHE 153 v R MEE N AN NG
Page: 1/2 Printing: 2014/03/10 14:15:07

SEIKO



FE36EEEJI0CY 1271t vihy) FBEZEKiKFRHRAXE

RH - REEFRKIKES

ARA—FYR B
#EHNo. 5 TF 100m Fik&E FE 6#
_11~128 _
kKig o BB K £ & 4 EY3
648
1 E E 3061  /hith AETE M 19h 14 b2 omEm (VY N6
2 B E 474  NA EMB 98 vt AU RET SWitsv=y /NS
3 B E 496 Nk HE akg bt A4 VBEER SWHIEY N6
4 T A 3390 MK == WE aR3 B N2 4SS h939SS 1N6
5 wmEI| 1813  #21lu 2ExE AF Y YT {MUKEEE X PERYS I
6 = =E 2542 A B N JSSH¥ JsSsSyna IN6
7 wmE| 1765 HE EE 1791 31 FE—T7Y¥t b -7¥t /N6
8 = 1B 3373 [EHA ¥ ey T 7 X5l TAHIUAY /N6

SEIKO Page: 2/2 Printing: 2014/03/10 14:15:07



